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= 18,400 11,600 6.800
2 27,600 17,400 10,200
SAHE0F SAFE(S) ®II22 XA 207,480 8,060 125,420
= 8,99 30,824 50, 168
2 124,488 49,23 75,252
307 SI2H0IH 207,480 8,060 125,420
= 8,99 30,82 50, 168
2 124,488 49,23 75,252
02 SIIAMA B E 207,480 8,060 125,420
O%4H20F FIIRS XA
AT 207,480,002 207,480 8,060 105,420
= 8,99 30,82 50, 168
2 124,488 49,23 75,252
FEY 2n2 A HEH AL 48,250 0 48,250
2 48,250 0 48,250
301 Y SHZ 48,250 0 48,250
= 48,250 0 48,250
14 JIEH2 A3 48,250 0 48,250




A sHESSH L
A Gfdest FUH LS (M LA/ Lo - OIE)
Selr MM SIR (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
Ozlgd =4z 215 HEM A
48,250,000 48,250 0 48,250
= 48,250 0 48,250
A E JEE ¢y 26,703 0 26,703
201 er23| 26,703 0 26,703
01 At2t2ltl 26,708 0 26,703
ogd A5 & axz 849
21,703,000 21,708 0 21,708
OZHAIE EIt Y =2
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